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PART A
Answer all questions, each canies1 matk*

lExplainsubroutineCALLandRETinstructionsinS0S5

2 Explain the operation of following instructions

(i) MVI C,05H (ii)INR H (iii)MOV A'B (iv) CMA

3 Explain briefly the control word in 8255 PPI'

4Differentiatebetweenhard&softrealtimesystems.

5 Write the 8-bit PSW register in 8051' Explain how

using PSW register.

Explain VO ports and its functions in 8051'

Write an ALP in 8051 to generate a square

port I using Timer 0.

8FindthevaluesofTMoDregisterstooperateastimers
(i)Mode 1 Timer 1 (ii) Mode 2 Timer 0

in the following modes (5)

PART B
Answer any twofult questions, each carriesl0 marks'

9 a) Explain addressing modes in 8085 with examples'

b) Explain the function of following pins in 8085'

(i)ALE (iDrRAP

10 Drawthe timing diagram of instruction STA 4500s'

11 a) write an ALP in 8085 to findthe largest number from an array of numbers'

b) Explain Fetch cycle & Execute cycle in 8085'

PART C

Answer any wofull questions, each carriesl0 marks'

12 a) Show how a DAC can be interfaced with 8085 Microprocessor'

b) Explain software and hardware intemrpts'

13a)DifferentiatebetweenMicroprocessorandMicrocontroller.

b) List the field of applications for an embedded system'
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Explain with neat functional block diagram the operation in g255 ppl (6)
List out the challenges in Embedded Systems. ()

Answer ony twofatt o:*fr:"rch carries 10 mnrks.
Explain'with neat diagram the Register organisation and sFR in g051. (10)
write an 8051 c program to toggle all the bits of p0 &p2continuously with a ^(10)
250ms delay.

write an ALP in 8051 to generate a square wave of 50%o duty cycle on the pl.5 (6)
bit. Use Timer 0 to generate the time delay.

Explain the following instructions in g051.

(DMOV A,@&(iD JNB TF6. again

14 a)

b)

l5
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17 a)
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